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Leading zeros are missing in
loaded data values

Information

Description  QlikView loads either missing or additional zeros, compared to the values in the data
source.

For example data like in the below script is loaded with incorrect leading zeros.

LOAD * Inline [
F1, F2

1, &

01, b

02, c

2, d

=

On the second row the leading zero is missing, and on the fourth row there is an
unexpected additional leading zero.
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Resolution |dentical numerical values are associated to the same textual presentation value in
QlikView. For this reason it is not possible to store the same numerical value with
different textual presentation values.

The closest workaround is to format the values as text by using Text() during reload.

LOAD
text(Fl) as F1,
F2

Inline [

F1, F2

1, &

01, b

02, c

2, d

=

This will result in the visual values looking identical to the data source.
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NOTE: Value formatted with Text() will not have underlying numerical values, hence
calculations on these values is not possible.
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The observed behavior is a part of fundamental QlikView functionality and data
compression technique.

In short this means that QlikView interprets and associates loaded data by best effort.
As part of QlikView optimization and compression technique the same reoccurring value
in a field is stored on the first occurrence only, and the following occurrence reference
to the first (stored) value. This means that two values with identical numerical
representation can not be stored with two different textual presentations in the same
field in QlikView.

Please keep in mind that all numerical values in QlikView act as dual values. This
means that they have an underlying numerical value that is used for calculations, and a
textual formatted value which is the value seen in charts or as calculations results.

In the example below four rows of data are loaded. In the field F1 there are four
different value.

LOAD * Inline [
F1, F2

1, =&

01, b

02, c

2, d

=

The first value in F1 is interpreted by QlikView as a numerical 1

The first value is stored as numerical value 1 with textual presentation 1

The second value in F1 is interpreted by QlikView as a numerical 1

There is already a numerical value 1 stored in the field F1, so QlikView

associates the second occurrence to the first value. This means that the value

01 will be associated as a numerical 1 with presentation value 1.

. The third value in F1 is interpreted by QlikView as a numerical 2

6. There is no other value stored in the field F1 as a numerical 2, hence this
value is stored as numerical 2 with the textual presentation value 02.

7. The fourth value in F1 is interpreted by QlikView as a numerical 2

8. There is already a numerical value 2 stored in the field F1, so QlikView
associates the second occurrence to the first value. This means that the value
2 will be associated as a numerical 2 with presentation value 02.

9. The loaded data will visually not look like the data source.
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Attachment 3

Disclaimer

- Your access to these Articles is provided to you as part of your Maintenance Policy and
is subject to the terms of the software license agreement between you and QlikTech or
its affiliates. QlikTech makes no warranties of any kind (whether express, implied or
statutory) with respect to the information contained herein. QlikTech reserves the right to
make changes to any information herein without further notice.
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